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02 XN 65,760 65,760 0
OXNEH A0 220,0002x18E « 12 47,520
S A0 170,0002« 1~ 122 2,040
OAIDFX 21301 M (SRA) M0
16,200,000 16,200
203 gF=4| 9,780 9,780
M EASHLRFAH 9,780 9,780
ORANSELRFTHI(OIzE23D)
4,980,000 4,980
OFRN2IYPFIH(sHAEELE)
4,800,000 4,800
204 MR AH| 3,600 3,600
01 MG HI=HAHH| 3,600 3,600
OXHMZY R 3,600
— & 100,003 x 1= 123 1,200
—sgelagAd 50,0002 x4« 123 2,400
sENolg 2 2,493,040 2,213,644 219,3%
= 6,750
[ 700,000
S 100,000
Al 1,686,290
sENZIE &#F 2,493,040 2,273,644 219,3%
= 6,750
[ 700,000
= 100,000
Al 1,686,290
SEXNTIIE 2o A& 15,998 365,998 /350,000
201 fer= 3| 14,998 14,998 0
01 AtR2tc|HI 14,998 14,998 0
Ogxz 14,998
—ANEZE EXIZX 1,200%10,665M 12,798
—ANEEZY DXy S 8X
550,000%4CH 2,200
203 HR=4AY] 1,000 1,000
03 A= PR FA| 1,000 1,000
Os&EXx g2 1,000,000%14] 1,000
SENTAY 22l 73,591 72,207 1,384
201 et 3| 69,591 69,207 384
01 At22t2l] 12,044 12,044
OsENEZAY 20N HME
1,100,000+ 12] 1,100
Oge=d S| 10,944
—&3 SEHl 8,000%18& x541x 12 8,640
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M =28
I SEXCIIE =Y
=Rl SEXNZIIE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- HOIH HE=EtE 28
40,0002 *37H 2+53] 600
- SEM XAPDISE F((50¢)
1,300&x20& 123 312
“IIENE BA Y ADE 7Y
100,000« 12& 1,200
Oge=d Sl 8,056,000 8,056
02 S3=gHl 83,893 75,797 8,096
OJI=Es81l A 3323 23,400
—&JIe3 19,800
Jls2sl EAM 1,000,000& «12& 12,000
sgadd 500,000& 122 6,000
-HEE 10,0002 12 120
- MCn=s 140,000& 122 1,680
—&ot=ER=3 300,000& * 122 3,600
OJIeEsl A 212 cld
80,000& 122 960
OJI=2S A AgorMzte| (i 89
S(sidsa L) 300,000 x 12 3,600
OJlz==22 A AEAE SXE(08
Szt ZLE) 400,000 52 2,000
OIS FA AYHME S|
48,0003 48
Oxtgm A2 19,205
— ==l 15,755
LSS 1,388% %10, 500km#*20% 2,915
sdal= 1,388 *17, 000km*3CH15% 10,619
Heat= 1,388& *4,000km*40% 2,221
—XERAl =2l 400,000 =6CH 2,400
— NS IHAl 100,000 *6CH 600
—KSXBA === 75,0002 6CH 450
O RE3(XHE) 500,000 500
ORsXLEsra 100,000 x22 71 200
OJlzs=22l A 4 S (&= 2
&) 31,000,000 *1IH £ 31,000
OJleEsl At 221dH| 23|
165,000« 12& 1,980
OJleEal A It EH 9|
1,000,000 1,000
401 AIEHIX R0 9,000 10,000 21,000
01 A28l 9,000 10,000 21,000
OJ =28 A L=3A ¥ FAES
9,000,000& 9,000
sgolagas 29 115,900 114,108 1,792
101 @124H| 103,020 98,128 4,892




A JI=ES

I SEXCIIE =Y
=Rl SEXNZIIE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 103,020 98,128 4,892
Osgodgs 22X 103,020
—Jl2= 2,238,303 «4E* 102 89,536
—oixtag 85,6802 42+ 10 3,428
~BHE(20, 24, 212)
7,592,580 7,593
—S2E2(1E, &) 2,462,220 2,463
201 eet23| 2,880 2,880
01 AtR2t2|HI 2,880 2,880
O=gelaga 2E(80HA)
30,0002 x84+ 122 2,880
401 AIEHIZ SR HYI 9,000 6,000 3,000
01 Al&HI 9,000 6,000 3,000
Osgags RS SA
3,000,000 *39H 2 9,000
405 AHaHE = 1,000 7,100 26,100
01 ML ESFSHI 1,000 7,100 26,100
Ok= d&1 WA 1,000,000 1,000
NeS2E SN Ws 4,000 0 4,000
= 2,000
Al 2,000
202 04| 4,000 0 4,000
= 2,000
Al 2,000
01 =LHO LI 4,000 0 4,000
OdZaA==(2HE) 4,000,000 1 4,000
= 2,000
Al 2,000
NesRdE dE2sHgdi 3,000 8,500 A5,500
= 1,500
Al 1,500
202 O4H| 3,000 8,500 A5,500
= 1,500
Al 1,500
01 =LHOHI 3,000 8,500 25,500
Oz s (HEXN=ATE])
3,000,000 3,000
= 1,500
Al 1,500
sEUEMY SZ Xt g5 N 5,200 7,100 21,900
= 2,600
Al 2,600
201 er=23y| 5,200 7,100 21,900




M =28
I SEXCIIE =Y
ol sEXNDIIE EF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,600
Al 2,600
01 At2tltl 5,200 5,700 A500
OsEEAY &35 N2 5,200
—sgolygs 2EXNE 5,200,000 5,200
= 2,600
Al 2,600
=N 2SN (sLEESHE 29) 1,300 0 1,300
= 650
Al 650
201 Ler23 | 1,300 0 1,300
= 650
Al 650
03 Ar=EHI 1,300 0 1,300
O=AAEEE0S 2
1,300,000 1,300
= 650
Al 650
sgel ASHIELIA Sg32 HE 1,600,000 0 1,600,000
[ 700,000
= 100,000
Al 800,000
401 AIEHIX 20HH 1,400,000 0 1,400,000
[ 700,000
Al 700,000
01 AlZ8| 1,357,160 0 1,357,160
Osgel AZHIXLA S§82 Zd SM
Hl 1,357,160,000& 1,357,160
= 672,160
Al 685,000
02 Zeltl 30,000 0 30,000
Osgel ASHIZUA S§32 =4 Zel
HI(A=, 801, 841) 30,000,000 30,000
[ 15,000
Al 15,000
03 Al 20HHI 12,840 0 12,840
Osgol ASHIELA Sg82t 2d Al
LoHYI 12,840,000 12,840
= 12,840
405 AtatE = 200,000 0 200,000
< 100,000
Al 100,000
01 AL =S F = 200,000 0 200,000
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=aak %é)(IEDIEF ?;% EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=2lol AZHIZLA =822t 24 &b
TEHI(MEAL) 200,000,000 200,000
= 100,000
Al 100,000
HHdgs d94ds diisd =4 570,000 0 570,000
401 Al HIZ S 0HHI 570,000 0 570,000
01 AlZ28| 570,000 0 570,000
OHUMels ZPMS UUsE Z4 &X
oH | 570,000,000 570,000
sYd2el" e =g 276,549 286,910 10,361
= 40,525
= 20,580
Al 215,444
sYHEE |4 238,308 237,987 321
= 40,525
[ 16,028
Al 181,755
s8Iz d2us X2 20,000 20,000 0
= 8,000
Al 12,000
201 Ler23| 9.410 9.410 0
= 3,764
Al 5,646
01 AtR2t2|HI 9,410 9,410 0
Osl= d2U= W M
10,0002 700 7,000
= 2,800
Al 4,200
Osgllz d20s s+ A
66,0003 158 990
= 3%
Al 5%4
OsWl=s MU= 28 =25 7Y
284,000 %53 1,420
= 568
Al 852
301 LELE NS 10,590 10,590 0
= 4,236
Al 6,354
11 dAMEEIXIE S 5,200 5,040 160
Os2ls d2uUs FAKL AHl K&
8,000& 650 5,200
= 2,080
Al 3,120
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M SoiEe0I |8t &
ol SYEE2E |y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 5,390 5,550 A160
Osgllze d2us dA==E
490,000+11& 5,390
= 2,1%
Al 3,234
Rsgol(AsAE) JIzEs)I8Ls X 16,000 16,000 0
= 5,750
Al 10,250
201 2= 5,420 5,100 320
= 1,928
Al 3,492
01 At2t2ltl 4,820 4,500 320
OFSHEDS B0 HE
88,000 x2& 176
= 70
Al 106
OAsAHELSE =357
200,000& +6E 1,200
= 480
Al 720
OAsHEUSE wM M=
23,8003 +80A 1,904
= 762
Al 1,142
OFsSHE U= U S|
770,000 +2CH 1,540
= 616
Al 924
03 A= EHI 600 600 0
OASTAE 424 22 7
150,000 45 600
301 EtE2 NS 10,580 10,900 2320
= 3,822
Al 6,758
11 #AIAHIXIE S 6,080 6.400 A320
OASAAE SZDS HAT Al N
8,0002 x40 *43] 1,280
= 512
Al 768
OA=s7E edus 0 2sX&
20,0003 x40 +63] 4,800
= 1,510
Al 3,290
14 0Bt 2as 4,500 4,500 0
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M SoiEe0I |8t &
el sgd=eE =54 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 930
Al 13,360
01 At2tltl 14,290 15,060 ATT0
OS=sgelgs Mg us MR
770,000 *20CH +85% 13,090
= 430
Al 12,660
OS=s=gogs 2825 78
60,000& »202] 1,200
= 500
Al 700
301 EtE NS 20,516 19,665 851
= 1,070
Al 19,446
11 #AIAMHIXIE S 17,976 17,125 851
OSZS=sgd3 HNus 4 X2
8,000& * 1,605 %23 *70% 17,976
= 800
Al 17,176
14 JIEt2d = 2,540 2,540 0
OS=sYAHA3 HNuSE HA=E
2,540,000 14] 2,540
= 270
Al 2,210
sgoltst =24 30,000 28,000 2,000
= 13,625
Al 16,375
201 et 3| 7,645 6,570 1,075
= 3,440
Al 4,205
01 At22t2lt] 5,845 5.170 675
OUsuM 72 & M=
35,0002 ~45& 1,575
= 709
Al 866
Ous 2g8=8 7¢ 1,960,000 14| 1,960
= 882
Al 1,078
O&u= Xt 770,000 *3CH 2,310
= 1,039
Al 1,271
03 Ar=EHI 1,800 1,400 400
O=g4 23 7¢ 450,000 45 1,800
= 810
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M SoiEe0I |8t &
el sgd=eE =54 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 990
206 M=l 3,375 4,200 A\B25
= 1,644
Al 1,731
01 MHZH| 3.375 4,200 A825
OoasiE 7Y 15,0002 458 +53] 3,375
= 1,644
Al 1,731
301 EtE N = 18,980 17,230 1,750
= 8,541
Al 10,439
11 #AIAHIXI 2= 4,050 4,200 A150
O8FuWE AHl & &0 XA
30,0003 »45 2 #3328 4,050
= 1,823
Al 2,227
14 IIEt2 8= 14,930 13,030 1,900
OHA==g 14,930,000 14,930
= 6,718
Al 8,212
4He| U= 1,200 1,160 40
= 600
Al 600
301 EtE NS 1,200 1,160 40
= 600
Al 600
11 dALEEIXIE S 1,200 1,160 40
O4H 2d = & 1,200,000 *14] 1,200
= 600
Al 600
s 4Ha sEJI=EE NS A2AE 8,520 8,520 0
= 1,278
Al 7,242
301 eEetE2 N = 8,520 8,520 0
s 1,278
Al 7,242
14 0Bt 2as 8,520 8,520 0
O4Hal sEI1=88 HMSKE
30,0003 »284H 8,520
= 1,278
Al 7,242
4H S2U=2 Z0 & wsK2 11,000 11,000 0
= 3,300
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M =28
M SoiEe0I |8t &
el sgd=eE =54 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 500
Al 1,250
307 elztol & 10,000 10,000 0
= 3,000
< 2,000
Al 5,000
02 LB HAHE L 10,000 10,000 0
OA=s&Y 2435t N2 10,000,000 10,000
= 3,000
== 2,000
Al 5,000
=gl =4 38,241 48,923 /10,682
= 4,552
Al 33,689
MEIHHS | 13,561 14,123 AB62
= 600
Al 12,961
201 er=23y| 1,980 1,122 858
01 AtR2t2|HI 1,980 1,122 858
ONuE & HEtg S0 H&
44,0002 =10 440
Ok i3 & &S Xtg S|
770,000 *2CH 1,540
301 EtE N = 11,581 13,001 A1,420
= 600
Al 10,981
11 #AIAHIXIZ S 11,581 11,081 500
O"gA 4 XIH 11,581
—T e 4 K& 800,000& 800
-5 % & s 4 I
100,000& +20& 2,000
= 600
Al 1,400
—SHS HNLs AKX X
28,0003 x30 S +BEHAI 6,720
—SHHES| AlHl XA 2,061,000& 2,061
MEOHLSIR THEl 50 & WS 5,000 5,000 0
= 1,000
Al 4,000
201 Ler23| 1,220 1,780 A560
= 244
Al 976
01 AtR2t2|HI 1,220 1,780 A560
OXter &Rl 770,000 *1CH 770




M =28
M soiES0I |8t &
el Hdsgel |4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 154
Al 616
O=g=s ¢ 450,000 *14] 450
&< 0
Al 360
301 EetE2 NS 3,780 3,220 560
== 756
Al 3,024
11 AALAEIXIE S 3,780 3,220 560
OEAX 24 88,000& *35H 3,080
< 616
Al 2,464
Ous Mg XN& 20,0002 *35& 700
= 140
Al 560
SE0E gsdad=2n 2= N 19,680 19,800 A120
== 2,952
Al 16,728
301 22N = 19,680 19,800 A120
< 2,952
Al 16,728
14 J|EI2 &S 19,680 19,800 A120
Os&0ld SsdEd2x 25 A
60,0003 +328% 19,680
= 2,952
Al 16,728
ANESY JIEt &5 857,740 500,320 357,420
= 170,000
[ 55,000
= 56,700
Al 576,040
eEs NERY 28 363,380 245,960 107,420
= 120,000
Al 233,380
HASSE JAl2c 5,740 5,280 460
101 21AH| 1,940 1,480 460
04 JIZtN2Z2XNSE+ 1,940 1,480 460
OUSSHAIRE Mz 212
1,900,000 1,900
OUASSHAZ Olx 218 283
40,0003 40
206 M=l 3,800 3,800
01 M=4l 3,800 3,800
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M ANESY DBt &5
oSl 2R3 AEEE 29 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| OnazEzzE 2d 3,800, 0002 3,800
ofZl=2t 2¢ 46,600 36,800 9,800
201 eet23| 26,600 24,800 1,800
01 AtR2t2|HI 2,000 2,000 0
O0tg U2t 224 S 7 (A=, JIE
&3t S) 1,500, 0002 1,500
Ol4 AZE AIBE Tzas
500,000 500
02 S5=2g4l 24,600 22,800 1,800
O0tgt =22 ARHI(BR)
3,000,000& 6 18,000
O0tZU =22 HI|R=
6,600,000 6,600
206 M=l 3,000 2,000 1,000
01 MHZHI 3,000 2,000 1,000
O0tgldt=2t 28 M2 3,000,000& 3,000
401 Al HIZL 048I 10,000 10,000
01 Al&HI 10,000 10,000
OOtZ U dt==2t AlE T X2
10,000,000 10,000
405 AtatE = 7,000 7,000
01 TR ESFSHI 7,000 7,000
OHIMEgE==sd)] 7
3,500,000 2CH 7,000
It ASAIEE 2F 11,940 11,480 460
101 @124H| 1,940 1,480 460
M ORINZZ2NSE S 1,940 1,480 460
OM==ASAIEE 0= A2
1,900,000 1,900
Ol=aSAIER tx 22 28&
40,000 40
201 =3 4,000 4,000
2 S22l 4,000 4,000
OL==AZAIHE 42 |7 7
4,000,000 4,000
206 M=l 2,000 2,000
01 MZH| 2,000 2,000
OZE8IE & == 45 ANER 22E M=
T (M, &l S) 2,000,000 2,000
401 AlZHIZ SO 4,000 4,000
01 AlZ28| 4,000 4,000
Olt==aSAISE A2 FXI2c
4,000,000 4,000
OLZTHEZE ASAIEE 29 12,500 10,500 2,000
201 er23| 5,000 4,000 1,000




2A:

E M

e Jlg;.z. AI: EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 5,000 4,000 1,000
O0tZU A= AdSAER HEddg FY
5,000,000 5,000
206 Mzl 3,500 2,500 1,000
01 b 3,500 2,500 1,000
OOlUIRE ASAME 222
3,500,000& 3,500
401 Al HIZL S 0HYI 4,000 4,000
01 Al&HI 4,000 4,000
O0tZUa= ASAERE FX2
4,000,000 4,000
ADE HIAEHIE(HA) AIEE 29 36,600 31,900 4,700
201 er23| 17,200 14,500 2,700
01 AtR2t2|HI 2,200 2,200 0
OMAESAIERE 425 72
1,700,000 1,700
OMa ASAIEE HE248
500,000 500
02 S5=2g4l 15,000 12,300 2,700
OADIE HAEHIE AIEE 2y
2,000,000 62 12,000
OAIZ€ &l |XI&eld] 3,000,000& 3,000
202 04| 2,400 2,400
01 =LHOLI 2,400 2,400
Otllg 25 2= U 0|
2,400,000 2,400
206 M=l 12,000 10,000 2,000
01 MZH| 12,000 10,000 2,000
OUBANE N2 P (=%, 52 S)
12,000,000 12,000
401 Al HIZ S 0HbI 5,000 5,000
01 AlZ2H| 5,000 5,000
OHAE HIE A& 2=
5,000,000 *14 5,000
etHs ASAEE O 200,000 0 200,000
= 100,000
Al 100,000
401 AIZHIZ SO 200,000 0 200,000
= 100,000
Al 100,000
01 AlZH| 195,000 0 195,000
HSAER =2 & AF EA|
20,000,000& 20,000
= 10,000
Al 10,000




M =28
B ADIESY Jlb 25
ool J|2E3 AEEN 29 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUZABE N2+ U A=
175,000,000& 175,000
= 87,500
Al 87,500
02 Zeltl 5,000 0 5,000
OUEANEE W24 W A= 22|
5,000,000 5,000
= 2,500
Al 2,500
=3t HSAIAYE 25 40,000 0 40,000
= 20,000
Al 20,000
401 A& HIX R0 40,000 0 40,000
= 20,000
Al 20,000
01 A28l 40,000 0 40,000
OB HIBALEY 7S
40,000,000 40,000
= 20,000
Al 20,000
D= AlB AL 70,000 70,000 0
= 10,500
Al 59,500
Dt===0F AlBAL 35,000 35,000 0
307 elzto| & 8,000 8,000
02 2B YAIHE £ 8,000 8,000
OSMt+ BeiE 59 AA%A & A&
20,000,000 *40% 8,000
402 2I2F X201 & 27,000 27,000
01 IR SASE X (XHMITHR) 27,000 27,000
OZCieh THEH D18t e Al™
40,000, 000& *50% 20,000
OUZS 2=t =g A"
10,000, 0002 *70% 7,000
Oleole == Ui HEAN JIs2S 35,000 35,000 0
=S 10,500
Al 24,500
402 212+ X=201H 35,000 35,000 0
< 10,500
Al 24,500
02 QI TH2AILEE (01X THE) 35,000 35,000 0
O0l&Jle =5 o 3 I =22
50,000, 000& *70% 35,000
= 10,500




2N 1223
Hm: ADIESY JlY &E
Rl AIEALE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | Al 24,500
THA Al ALY 174,760 94,760 80,000
2 55,000
= 4,200
Al 115,560
M2 SRS HIEX Z8 AlY A 50,760 50,760 0
307 212+0|F 50,760 50,760
02 QIZHAAAIE R 50,760 50,760
ODNEH M2 MUK X4
45,000,000 45,000
OZYMY xgs T M= Xl&
5,760,000 5.760
+EE IS8 Da BTN JIE AlE 90,000 0 90,000
= 45,000
Al 45,000
402 RIZHAHE 01 90,000 0 90,000
2 45,000
Al 45,000
02 BIFGHE A2 E (OIF T 90,000 0 90,000
O+Z0458r D& JATHH & AlE
90,000,000 90,000
= 45,000
Al 45,000
UASRUIAL DI X ADIE BAHR 22 Al 20,000 0 20,000
= 10,000
Al 10,000
402 BIZEAHZ 01 20,000 0 20,000
2 10,000
Al 10,000
02 BIIGHZ A2 E (ORI ) 20,000 0 20,000
OLARZPMA DIBE X ADIE 4R
23 A 10,000,000 <27} 2 20,000
= 10,000
Al 10,000
IHE ADIE L] Il AlY 14,000 0 14,000
= 4,200
Al 9,800
402 RIZEAHZ 01 14,000 0 14,000
= 4,200
Al 9,800
02 BIEGHE A2 E (ORI ) 14,000 0 14,000
OLE ADIE LHZ2| J|z Alg
20,000,0002!%70% 14,000
= 4,200




M =28
M ANESY DBt &5
=2l THAAIH AN EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 9,800
SIS AB A 19,600 89,600 70,000
aiFlAtY Fd AIEAE 9,600 9,600 0
307 212+01™ 9,600 9,600 0
02 LB HANHEE 9,600 9,600 0
Oze=e |54 73R4 NH
9,600,000 9,600
KNEEst SM 2SS |4 10,000 45,000 /35,000
307 elztol & 10,000 10,000 0
02 2B YA E X 10,000 10,000 0
OFlLi=Z 2 |4 #A%A M
10,000,000 10,000
=9 s 22 240,000 0 240,000
= 50,000
= 42,000
Al 148,000
Olaole tis & UoHHY Jl==at Al 100,000 0 100,000
= 50,000
Al 50,000
402 2I2F X201 & 100,000 0 100,000
= 50,000
Al 50,000
02 QI EASEX(0IETHR) 100,000 0 100,000
O0l&J14 S oH3 TIoHOIE Jls==tat Al
= 100,000,000 100,000
= 50,000
Al 50,000
OlZla=s SagY 453 J==2Es 70,000 0 70,000
S 21,000
Al 49,000
402 2I2F X201 & 70,000 0 70,000
== 21,000
Al 49,000
02 2IIHZ AN 2 X (01 TR 70,000 0 70,000
OOlLIES EREY 2S5 223
100,000, 000& *70% 70,000
= 21,000
Al 49,000
UEE I AL Dls AlY 70,000 0 70,000
= 21,000
Al 49,000
402 2I2FX=01& 70,000 0 70,000
s 21,000
Al 49,000




A JI=ES

M ANESY DBt &5
el 58 Dl B3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 70,000 0 70,000
OLSE JI19 L Iz Al
70,000,000& 70,000
= 21,000
Al 49,000
WA =08 2 1,142,905 1,197,457 A\54,552
= 116,000
Il 3,725
= 67,800
Al 985,380
ASASE0F EX(AIE)AY 190,500 169,780 20,720
= 51,800
= 25,200
Al 113,500
sHESgoE LMl XA 73,600 79,600 26,000
= 36,800
Al 36,800
206 M=l 19,600 0 19,600
= 9,800
Al 9,800
01 M2 19,600 0 19,600
SXHS WAHS(USEAY) SN N
19,600,000& 19,600
= 9,800
Al 9,800
307 glztol & 54,000 79,600 /25,600
= 27,000
Al 27,000
02 2IZHBYAIHE & 54,000 79,600 A\25,600
O=Z2 S (=Ss0NE0ISE) S
& 54,000,000 54,000
= 27,000
Al 27,000
LEE A MM FYIERE 3,900 3,680 220
201 2= 1,540 1,320 220
01 At2t2lt] 1,540 1,320 220
O=%= Mool 2 M=
77,0002 * 1074 =23 1,540
202 04t 1,920 1,920
01 =LHOHI 1,920 1,920
OMgRE ALEF 2ol
20,0003 »1H+83]x 122 1,920
301 EtE NS 440 440
11 AALRHIXIRS 440 440




2A: JI=E2SH
BH: YSigs)|8 S
SR AIZRS20F BER(AE)AS (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OZ2.C Zens 24K 24
88,0002 x5Z 440
Tt SN AIY THOHER =4 70,000 70,000 0
T 21,000
Al 49,000
402 SI2ER=0I A 70,000 70,000 0
& 21,000
Al 49,000
02 QIZERH2 A 22 (01 & &) 70,000 70,000 0
OFE =S AlY X =4
100,000, 0003 *70% 70,000
& 21,000
Al 49,000
2258 AR A 10,000 16,500 26,500
& 3,000
Al 7,000
301 LB F 10,000 16,500 26,500
= 3,000
Al 7,000
14 JIEtE2 43 10,000 16,500 26,500
O22& XX 10,000,000 10,000
= 3,000
Al 7,000
B 2% 13 M2l 2l Alg 3,000 0 3,000
& 1,200
Al 1,800
307 QI2tol 3,000 0 3,000
& 1,200
Al 1,800
02 QIZHA A AL E X 3,000 0 3,000
OoH 2E 13 Ml &M AlY
3,000,000& 3,000
= 1,200
Al 1,800
HIOIRXt &2 AEMEIX 240tA 2= Jl= AlY 30,000 0 30,000
= 15,000
Al 15,000
402 IZER=0IH 30,000 0 30,000
= 15,000
Al 15,000
02 QIZIXH2 AL 22 (01 & &) 30,000 0 30,000
OHIOI2Xt &2 AIZMEIX 24018 25
Jls XN 30,000,000 14! 30,000
= 15,000
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2A: JI=E2SH
M st =0 e
el etgsa 29 X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0IM=ZE ZEX A 25,000,000& 25,000
OsgsllMss 2ZIES
800,000 43| 3,200
Olldg 22 HES &
1,000& *4,000& 4,000
02 2224l 19,800 12,100 7,700
Osg=0lM24 Al
300,000 *308 9,000
OsENMESA B2 HE(ER)
1,500& #6002 Ef* 123 10,800
206 =4l 71,000 82,500 A11,500
01 =Yl 71,000 82,500 211,500
ODIMHZ BHE X 65,000
—10E7(Bacil lus subtilis)
100,000 #250 L 25,000
— 282 (Variovorax boronicumulans PMC12)
100,000 #2002 20,000
— 842t (Beauver ia bassiana)
200,000& =100 20,000
Ollds aEs A
100,000 *155*43| 6,000
405 XHeHE S| 30,000 30,000
01 AL =ZFSHI 30,000 30,000
OlldsE 228 HED(4ED)
6,000,000 *57H 2 30,000
REOMZS Mo AS AIRH 70,000 75,000 5,000
= 21,000
Al 49,000
201 LBt AY| 4,000 30,000 226,000
& 1,200
Al 2,800
01 AtR2telt] 4,000 30,000 A26,000
O0IMZE ASAEE 2SHEE
240,000 ¥5IH 2~ 1,200
& 360
Al 840
Olldg EZaL| =52
200,000& *7 523 2,800
= 840
Al 1,960
206 =8l 66,000 45,000 21,000
& 19,800
Al 46,200
01 MHZ 8l 66,000 45,000 21,000
OO0 S HHet= HiXI 60,000




2A: JI=E2SH
Zal: JfsrelisI|u 2y
el etgsa 29 X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— &8 2 (Rhodobacter spp.)
100,000 & #2005 20,000
& 6,000
Al 14,000
— S 42 (Lactobaci | lus spp.)
100,000& #2002 20,000
= 6,000
Al 14,000
—22dcHChlorella spp.)
100,000 #2005 20,000
& 6,000
Al 14,000
OllM= AEE M2
50,0002 x20E*63] 6,000
= 1,800
Al 4,200
A UMM D2 32 &3 AlY 60,000 50,000 10,000
& 18,000
Al 42,000
206 =8l 60,000 50,000 10,000
& 18,000
Al 42,000
01 =8l 60,000 50,000 10,000
OFA 2AF M2 D|M2 i i X 60,000
—HEEsHI = [AATAL Y 0
M= 100,000 *200 £ *3& 60,000
= 18,000
Al 42,000
2EYHRAL QIMES 0|28 2Ed HSLH AlD|I=Al 20,000 20,000 0
=]
= 10,000
Al 10,000
206 MZ Bl 20,000 20,000 0
= 10,000
Al 10,000
01 =Yl 20,000 20,000 0
O2=424 DIM2 thieE tiXl 20,000
—&2A(Isaria fumosorosea)
100,000 & #2005 20,000
= 10,000
Al 10,000
SedEA 29 38,086 17,400 20,686
101 2124l 26,086 0 26,086
M IIZINZ2 2 NS Es 26,086 0 26,086
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M JlsEs
2 Ysteis)|o g
ol DetdsR 29 X =)
SA - BB - SRAGEH) - NS - BES i s
206 =4I 17,050 12,000 5,050
= 8,525
Al 8,525
01 =l 17,050 12,000 5,050
OZE83d dEE M= 17,050
—Z4EZ AN (E4 2), 248 JtA
10,000,000& 10,000
= 5,000
Al 5,000
—0{tXl 2 HEE M= 7,050,000& 7,050
= 3,525
Al 3,525
AREN Ol ELZAHMZHI) 3,725 3,833 A108
Il 3,725
206 M= I 3,725 3,833 A108
| 3,725
01 el 3,725 3,833 A108
OBANER 018F2 EL2A W2
3,725,000& 3,725
J| 3,725
E2L =5 S MY 22,600 22,600 0
= 11,300
Al 11,300
101 @124H| 20,876 17,042 3,834
= 10,438
Al 10,438
04 JIRHH2Z2AEE 20,876 17,042 3,834
OltE2h 2448 25019 e1AH|
2,344, 9802« 1H«8 & 18,760
= 9,380
Al 9,380
OJIE2h 2448 X038 B 2,116
—AdLEE 666,000& 666
= 333
Al 333
-3 RABHE 82,000& 82
= 41
Al 4
—=0A= 850,000& 850
= 425
Al 425
—nEg2s 330,000& 330
= 165
Al 165




2A: JI=E2SH
BH: YSigs)|8 S
ool DElYsR 29 X o
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
— e 188,000& 183
= %
Al A
206 =4l 1,724 5,558 A3,834
= 862
Al 862
01 =l 1,724 5,558 A3,8%4
OIIEEL 488 ME 1,724
—EHE Al AQN EZXDIT S
724,000 724
= 362
Al 362
— gl =% oy J|E
500,000 *23| 1,000
= 500
Al 500
Holls WEE - A 2 18,000 18,000 0
= 9,000
Al 9,000
201 L2 AH| 6,000 5,520 480
= 3,000
Al 3,000
01 At22teld| 3,000 5,520 A2,520
QYo S8t 2H=E
300,000 +63| 1,800
= 900
Al 900
OYolZlZEE 2I=2
200,000& 63 1,200
= 600
Al 600
02 33244l 3,000 0 3,000
OYlSRHA[MEE] &SR]
1,500,000 *2JH 2~ 3,000
= 1,500
Al 1,500
401 AIEHIZL 200 12,000 11,000 1,000
= 6,000
Al 6,000
01 Al&HI 12,000 11,000 1,000
Ogdis Z&E |0t LM £X
2,000,000 *1JH 2 2,000
= 1,000
Al 1,000
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68,659
52,168
52,168

13,500

11,900

1,600

2,991
2,991

MEE
Ofl &k2h

41,525

4,700
3,300

1,400

36,825
36,825

ol &rey

110,184
52,168
52,168

5,268
1,663

204
2,111

46,900

821
469
18,200
15,200

5,000
600
4,000

2,000

2,400

1,200
3,000

3,000
39,816
39,816
39,816
12,816

11,000

7,000

- SRA(E) - HIRAY

- ESS

S - B

o
[l

2|

1,662,590 %12.27%

344,980 x2F 10
46,899,600 +3.545%

g el2bl

o
ol
2,

SRS

A

<|

>
04 JIZtN22 NS84+

101

no
8

ol
i

46,899,600 *4. 5%

46,899,600 *1.75%

00

o|x3d

=l

2| %D

46,899,600 * 1%

4,000,000 * 104

100,000

! HOIE X2

pas|

01 AtR2te|b]

i3
o

00
G

3

=l

400,000 3

1,000& »2,0000H
50,0003 #4JH*12

30
O
[0
[0

=
=)

=1
2

500,000& *6
12,816,000 *1SET
700,000& %x25+5

275,0003 »10SET4

—AXMAES dHel AZS

01 M=4l

206 =4I

ng

<

00
il
el
o

wd
R
=

26,086

64,110
26,086

9,000
64,110
26,086
26,086
23,450

2,636

832

2

200,0002x155%3
2,344,980« 1E 102
23,449,800 +3.545%

04 JIZtN2Z2 S8+

101 e124d|
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